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‘ - Part -1l
BOTANY
(General)

‘ Paper — Il

| Full Marks — 90

: Time : 3 Hours

The qﬁestions are of equal value for any group / half,
The ﬁg'ures in the right-hand margin indicate full marks.
Carididates are required to give their answers in

| their own words as far as praclicable.

f GROUP - A

1 Answer any ten of the following : ~ 2x10=20
(l‘a) Write the function. of cell wall.

(p) Define Periderm mentioning its function.
(c) Whatis biosphere?

(l‘d ) Wirite the adverse effects of water pollution.
(e) What are BOD and COD?

(f) What is dihybrid cross?

(g) What is dominant epistasis?
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(h) Differentiate between back cross and test
Cross.

(i)  What do you mean nucleosome?

(i) Name two physical and two chemical
mutagens.

(k) Define osmotic pressure.

(I)  What is ammonification?

(m) Name two di-and two oligo-saccharides.
(

n) Write an acidic phytohormone mentioning
its two major functions.

(0) What is peptide linkage?
GROUP - B
2. Answer any five of the following : 8x5=40

(a) Define plant hormones. Cite two examples
each of natural and synthetic phytohormones.
Enumerate the physiological roles of 1AA in
plants. 24244,

(b) What is genetic code? Describe the
properties of it. Name one termination codon.

kB

() What are active and passive absorption of
ions in plants? Describe in brief the carrier
concept of ion transport in plant roots.

2+6
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(d) With suitable sketches describe first
prophase of meiosis. 8

(e) What are the differences between holo-,
' apo- and co-enzyme? Write the mechanism
of enzyme action. 3+5

(fy What are symbiotic and non-symbiotic N~
' fixation? Schematically represent the.
mechanism of symbiotic N_-fixation in
nodules. 2+6

(g) Write different theories in explaining the
. mechanism of opening and closing of
. stomata in dicotyledonous plants. 8

(h) Whatis the significance of ETS? How many
' molecules of ATP are produced from
: glycolysis and TCA cycle? What is PS-1?
4+2+2

f GROUP - C
3.  Answer any two of the following :  15x2=30
f(a) What is stele? Describe with sketches the

i different types of steles. Write about the
i different types of stomata. 2+8+5

'(b) What is meristematic tissue? Describe the
' different types of meristematic tissue found
' in plants. Write the significance of

! transpiration. 240+4
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(c) Name two each of C,, C, and CAM plants.
Represent C, cycle with a diagram. What is
‘Kranz anatomy'? Write the first enzymatic
reaction both in C, and C, cycle of
photosynthesis. 3+6+3+3

(d) (i) Write the adaptive features of
halophytes with respect of morphology,
anatomy and physiology. 3+3+3

(i) Write different climatic factors in
ecosystem. Write the significance of
ethnobotany. 5t
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